H & 0l & AHS B Ml A

0248 =0ila eS| =21t
2A E23
M HHSIHH(ZZD)
s Jl=dhl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2 32,162,707 42,064,061 9,901,354
= 8,028,000
== 3,848
Al 24,130,859
HY2LAH(E2 D) 64,200 66,643 A2,443
Jl=3H| 64,200 66,643 A2,443
Jl=23H] 64,200 66,643 N2,443
201 et23| 12,620 14,540 1,920
01 AtR2t2|HI 12,620 14,540 1,920
Oget=2H1(38) 2,740
—JIZMRES 7Y 30,0002 +16% 480
—HURFIUEA FHI 20,0002 x5 100
—A2HES 7Y 70,000 * 122 840
— 42 =48 60,0003 * 12 720
—Nensz 10,0002 +55% 122 600
OJl2&sS S
8,0002 x10 +83|* 122 7,680
Okz2+¥ II=H] 200,000 *11H 2,200
202 04t 45,400 45,923 523
01 =LHOHI 19,600 20,123 N523
OJIEss =L 10,000,000 10,000
ORBLA ALEX OfY|(SLIE o, £2
ANEE 2l 8§) 160,000 x5 * 122 9,600
02 XN 25,800 25,800 0
283 A0 170,000 x1&* 122 2,040
O=24)| 2, C2E/ (S22 ) AU
] 180,0002x 11+ 122 23,760
203 =8| 4,980 4,980
04 PAE2EERFAH 4,980 4,980
ORMEZE =4 415,000« 122 4,980
204 MNP AH| 1,200 1,200
01 MG HI=HAHH| 1,200 1,200
O 100,003 x1& =123 1,200
cdFaC 113,165 319,100 A205,935
CAFFN 113,165 319,100 A205,935
CEAFM a2 10,985 16,920 A5,935
201 fer=3| 6,985 12,920 A5,935
01 AtR2t2|HI 6,985 12,920 25,935
O=2EAME 1,000
—C2HAMEZ DXIA QU
50@%10,0000H*12] 500
—C2ANER €EE FSF HME
502 +10,0000H*12] 500




2A E23
M CRAF 2L
=@ C2dI=A (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Oce#s 942 =8 a2
8,000 x4 +52|« 12 1,920
ORZSN(UEER) NX 28 22 242
3,065,000 14! 3,065
O HZEEI === 1,000,000 1,000
202 04l 4,000 4,000
01 2LHoIH 4,000 4,000
Ozzss g2z Ao/
100, 000& 52 »83] 4,000
S 84 NE 2 1,280 1,280
201 er23| 1,280 1,280
01 AtR2t2|HI 1,280 1,280
O=Y 84 o5 S5 I
50,0003 * 107K 500
OgY LHY O UREN ADES 7Y
65,0002 *33|x4Z 780
DIXIZ28X B&4(HAEEZ HAER S) 100,900 300,900 A.200,000
401 Al HIZL 2018 100,900 300,900 200,000
01 Al&H| 100,000 300,000 200,000
OgEzz =Y 0IX=8X 243
100,000,000 100,000
03 AlESTHYI 900 900 0
OAIZ 20HHI 100,000,000 0. %% 900
C2AIE 2 10,117,944 18,400,426 A\8,282,482
E2 X HEAMS 1,224,000 483,024 740,976
ZEIC L HYDIS & SHDIZ SXISAHIEALY) 414,000 0 414,000
401 AlEHIZ 01| 414,000 0 414,000
01 AlZH| 414,000 0 414,000
OMEIC & LHY0IE & 2ATUXZ X5
At 414,000,000& 414,000
Ots S WXZ EXISA 60,000 0 60,000
401 AIEHIZ R HYI 60,000 60,000
01 Al&H| 60,000 60,000
O0ts 3AWXZE HEXISAH
60,000,000 60,000
SIZAIHE SN WXE EXISA 450,000 0 450,000
401 AIEHIX SO 450,000 450,000
01 AlZH| 450,000 450,000
O2AZAtAEl 28 WAtE EXISAH
450,000,000 450,000
BHolw & EHOICHL & R3E X2 &HE SA 250,000 0 250,000
401 AlZHIZ 201 250,000 250,000
01 Al&HI 250,000 250,000




2A E23
M C2AIE2
=Rl B2 X OHEANE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OEIPIm 2 EfOItin @ Sslaxz 28 3
At 250,000,000 250,000
s & &2 = M 50,000 50,000
401 AIEHIX R0 50,000 50,000
01 A28l 50,000 50,000
OZEs & &2 =& SA
50,000,000 50,000
OIS S 2 A RA2el 4,628,944 12,553,642 AT,924,698
HEEZ AEs 2 K2 1,393,994 1,365,042 28,952
201 el 66,274 70,374 24,100
01 At22t2lt] 3,344 3,344 0
OozZgX&e| A2F +#¢
150,000& « 12 1,800
OBFT= U T2+ 0j=y)
260, 00021 4% 1,040
OS2E42 ARA H4D| YR2
42,0003 122 504
2 35244l 62,930 67,030 24,100
OE22+TH FFFLUL(RHRLR)
1,900& 5, 000km*9CH*10% 8,550
OZsitg FF7l 20,820
—8IZ(58) 2Rl 5,200,000 5,200
—sdals g7l 6,520,000& 6.520
—agals 7724 5,100,000& 5,100
—gZ 2 SHEE X a2l
1,000,000 *43] 4,000
OEzE+ =240 || 27,320
—=4) ==
1,800 +80C| {102+ 123 17,280
—=2241)| ==cldl 5,000,000& 22 10,000
—=24D| DA =2
40,000 *12] 40
OMEXSHEE =S| WESAL & 22l
Bl 1,000,000 #4112 4,000
OE2RAES 22X SZHLRES(H
32X 50,0002 x2CH*23] 200
OL2RNES 2Sieg SBMLRES(E
i=)) 50,0003 x2CH*23] 200
O=2RXE+ ASIE NS
20,0003 4 LH 23] 160
O2RAEs 2EXNE IS 240
e 65,0002 *2CH 130
-4 55,0002 2CH 110
OEZRANES IHED 2223
120,000« 12& 1,440
203 HR=H] 1,000 1,000 0




2A E23
M T2 AL J_’; cl
Chel: oM S2AIE |X2a] EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 A=A RN 1,000 1,000 0
Okz s 2axcel 1,000,000 1,000
206 M=l 102,400 90,428 11,972
01 M=4l 102,400 90,428 1,972
Oz2=2= I 74 72,500
—0tAZ 130,000 x200& 26,000
—S5=(25kg) 35,000,000 35,000
—HIIE(SH) 5,0002*1,0002/ Ef 5,000
—EEEs ADY HHPY
6,500,000 *14] 6,500
HCHEl Setzs F
199,000 *100& 19,900
S 100,000 *100& 10,000
305 Hi& =S 20,000 20,000
01 =S 20,000 20,000
T2 AIEY0 OHE tidds
20,000,000 20,000
401 Al HIZ R 0HbI 1,204,320 1,203,240 1,080
01 AlZ8| 1,200,000 1,200,000 0
OHEEZ AtE 900,000,000 900,000
OHEEZZ U 241D SAt
200,000,000 200,000
OE2AIEE 24 2 &5
100,000,000 100,000
03 AlESTHYI 4,320 3,240 1,080
OAl& S THHI 4,320,000 4,320
JAE S SLYZE AMHL JUIZ LA 501,800 5,800,000 A5,298,200
401 Al HIZL S 0HYI 501,800 5,800,000 A5,298,200
01 Al&H| 500,000 5,800,000 /5,300,000
OZAE SHSL=Z A2l Xz 4
Xl SAt 500,000,000 500,000
03 AIZ2THYI 1,800 0 1,800
OAI4 2THYI 1,800,000& 1,800
dE 5SS ss2  HEH &2 W 503,150 503,150
401 AlZHIZ SO 503,150 503,150
01 AlZ28| 500,000 500,000
Odg =Sty S22 & NHdH &2
HESAH 500,000,000 500,000
03 Al S CHYI 3,150 0 3,150
OAIE20HbI 3,150,000& 3,150
Fol=+ & HZSAH 150,000 150,000
401 A& HIX R0 150,000 180,000
01 AlZH| 150,000 150,000
O=olis7 & HSA 150,000,000 150,000




2A:

E M

N
1]

2

—_
EE/\I’%I’&EJ

Chel: oM S2AIE |X2a] EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Z2Asd B2 DHSA 200,000 500,000 A.300,000

401 Al HIZL 201 200,000 500,000 A.300,000
01 Al&HI 200,000 500,000 300,000
OZAE 2= WUHMSA
200,000,000 200,000
S0ts 2=== UHMSA 200,000 200,000
401 AlZHIZ SO 200,000 200,000
01 A28l 200,000 200,000
OS0ts 2= wHSA
200,000,000 200,000
AEH(Z0, 2Bt BYRA)ER X2 200,000 302,160 /102,160
401 Al HIZL 01| 200,000 302,160 A102,160
01 Al&H| 200,000 300,000 100,000
O&teH(=0t - &8t - 32X Y) =2 RA2te
200,000,000& 200,000
CE2H oHEEXE X H RA2 80,000 100,720 A20,720
401 Al HIZ S OHHI 80,000 100,720 N20,720
01 A28l 80,000 100,000 /20,000
OE=2Y etlEXE X & FX2tel
80,000,000 80,000
AdANE & T2ATAEE X 2 FA2te 80,000 100,000 /20,000
401 Al HIZL S 0HYI 80,000 100,000 /20,000
01 Al&HI 80,000 99,100 A19,100
OXE NS S E2UHTHAEE EX € &
K2 80,000,000& 80,000
=cte 21 & 7Al2e 40,000 50,000 10,000
401 AlZHIZ S 0HbI 40,000 50,000 10,000
01 A28l 40,000 50,000 10,000
Oscte €1 & =Al2
40,000,000 40,000
0 X 22 =4 50,000 100,720 A50,720
401 AIEHIZ R HYI 50,000 100,720 A50,720
01 Al&HI 50,000 100,000 250,000
OR+20l € 22 =4 50,000,000 50,000
CREAE EX & RXI2e 30,000 50,000 220,000
401 AlEHIZ 2018 30,000 50,000 220,000
01 Al&H| 30,000 49,460 19,460
O==2PAIE EX & FAlZcl
30,000,000 30,000
Zsl=sl2 9= T2 ZHISA 100,000 0 100,000
401 Al HIZ R 0HHI 100,000 100,000
01 AlZ8| 100,000 100,000
O=2zleal2t &= =2 ZHISA
100,000,000 100,000




SA: C23)
M C2AIE2
thelr ehds S2AIE KXzl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ZAA 2 == Xt WA S A 100,000 100,000
401 Al HIZL 201 100,000 100,000
01 Al&HI 100,000 100,000
OZ Al 2U == Xtd HE=HS AL
100,000,000 100,000
2t BE, Xotits s |2t 300,000 300,000
401 AlEHI L2 ] 300,000 300,000
01 Al 300,000 300,000
OB B, NBRE S BB
300,000,000 300,000
2U g, |1 s A2 300,000 0 300,000
401 Al HIZL 01| 300,000 300,000
01 Al&H| 300,000 300,000
O wg, su S RAl2el
300,000,000& 300,000
A FX 2l 300,000 0 300,000
401 Al HIZ S OHHI 300,000 300,000
01 A28l 300,000 300,000
OXd =4 FXl2te] 300,000,000 300,000
282 =2 ZHISA 100,000 0 100,000
401 AIEHIZ R HYI 100,000 100,000
01 Al&H| 100,000 100,000
OZgoAaX+ 222 & MITX=2 4
RIS A 100,000,000 100,000
CEPXE(LY, HE S) E=E2LA 2,430,000 3,350,080 A920,080
0248 ZAAN E2HAE JEAEEH & M SH 900,000 1,500,000 £A600,000
401 AlZHIZ S 0HbI 900,000 1,500,000 2A\600,000
01 AlZH| 900,000 1,500,000 A\600,000
020243 2SN 2722 JLAHEEH L
de =9 900,000,000& 900,000
0248 A 2= & - ot FIetEEE B 200,000 0 200,000
A
401 AIEHIL 2L 200,000 200,000
01 A&t 200,000 200,000
o204 ZSA E27x= & - ot F0I
ot EY EY 200,000,000 200,000
T LIS AT EE223M 250,000 250,000
401 AIZHIZL S OHE 250,000 250,000
01 A28l 250,000 250,000
Ok27x= JEANEH AT E2HE
At 250,000,000 250,000
LM (oH Ex=223A 50,000 50,000
401 AIEHIZ SR 0HYI 50,000 50,000
01 Al&H| 50,000 50,000




2A: S22
M CZAdate

o9l CS2RX2(DY, HY S) B4LEAA COR
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZaHu(st) 2+2LSA
50,000,002 50,000
s SLBLBA 100,000 0 100,000
401 Al&HIZ S| 100,000 0 100,000
01 Al&H 100,000 0 100,000
USHD HLFABA
100,000,000 100,000
230 Ex=223A 50,000 0 50,000
401 AlEHIZ SO 50,000 0 50,000
01 Al&HI 50,000 0 50,000
O=22=s1 Bx223A 50,000,000 50,000
S0tu 222 3A 100,000 0 100,000
401 AIEHIKL 20U 100,000 0 100,000
01 Al&H| 100,000 0 100,000
OO0t E=2LSA 100,000,000& 100,000
TEULL E=2L3A 100,000 0 100,000
401 AlZHIZ SO 100,000 0 100,000
01 A28l 100,000 0 100,000
Ol Ex=22ZAt
100,000,000 100,000
Eioln 2223 At 100,000 0 100,000
401 AIEHIZL S0 100,000 0 100,000
01 Al&H| 100,000 0 100,000
ORI S22 ZAt 100,000,000 100,000
St W 22 SAt 30,000 0 30,000
401 AIEHIX S0HH 30,000 0 30,000
01 AlZH| 30,000 0 30,000
Oddlw WA 22 SAH dAIEAHSH
30,000,000& 30,000
N3E =27E= HHZAI E9 50,000 0 50,000
401 A2 HIRL 201 50,000 0 50,000
01 Al&H| 50,000 0 50,000
OHN3E E2+7E= AHZA Y
50,000,000 50,000
NS XGHAE &Y XHEHAIE EXISAt 500,000 0 500,000
401 AIEHIX SO 500,000 0 500,000
01 Al&H| 500,000 0 500,000
OMEEEXIGIAE MY THEAIE EXISAE
500,000,000 500,000
AN Do Y2 22 1,835,000 2,013,680 A178,680
=== A =2 72t 1,835,000 2,013,680 178,680
201 223 80,000 80,000 0
2 S22l 80,000 80,000 0




2A:

X XH -
o=

CHSl: OIS ROMIE XER RXR2 (crol: m2)
M- B - 2(31) - HIRAY - BAS ol &k G o HlmS2
OO+ = I EREE saeel )R
80,000,000 80,000
308 KXIHMSOIH 1,755,000 1,933,680 A 178,680
07 X SHREES 1,755,000 1,933,680 178,680
O42NNSTACR NXSHSED
1,755,000,000 1,755,000
T2AlE 2 21,515,974 22,966,808 A1,450,834
= 8,028,000
= 3,848
Al 13,484,126
sHEZZ g2l 2,428,498 5,306,098 22,877,600
& 3,848
Al 2,424,650
nse TA 13,360 12,980 380
& 3,848
Al 9,512
101 eI H| 11,660 11,380 280
& 3,498
Al 8,162
M IIRIZ2Z2XSE+ 11,660 11,380 280
OAlZE WESETA IR
83,2803 140 11,660
= 3,498
Al 8,162
201 Let2| 1,700 1,600 100
& 350
Al 1,350
01 AtR2telt] 1,700 1,600 100
O & EF 7+ 1,700,000 1,700
& 350
Al 1,350
SOCALR =& 6,188 7,688 21,500
201 B2 AL| 2,688 2,688 0
01 ArR2eltl 2,688 2,688 0
OS2A&Y 22 27 32|
8,000& x4 7« 122 2,688
202 o4t 3,500 5,000 21,500
01 =WHO4 bl 3,500 5,000 21,500
OZtU SICME S SLREM Y2 FANI
3,500,000& 3,500
So0Hw AL ESA 141,750 875,000 AT733,250
308 AXIHMSO0I& 141,750 875,000 AT733,250
07 XXIEtH2 R E = 141,750 875,000 A733,250
OE&20iw HE S At 141,750,000 141,750




2A:

X XH -
o=

S22
T2 AlIE 2]

el 2 - SsHEZZ e 2c EER=E)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
ZESH(SE 8337 8) L3 60,000 140,504 /80,504
401 Al HIZL 201 60,000 140,504 /80,504
01 A=l 60,000 140,000 80,000
ORC6EH(SE B8R-S +8) HETA
Etgd ZAIEY 60,000,000 60,000
SHEZZ1BSH (Za~=2)HE S A 2,006,120 1,072,300 933,820
401 AlZHIZ SO 2,006,120 1,072,300 933,820
01 AlZHI 1,700,000 1,000,000 700,000
OsHEZZ 1858 (HA~ZF)HESA
1,700,000,000 1,700,000
02 2l 300,000 70,000 230,000
OSHEER 185 M (N2 ) HEBA 2
cltl 300,000,000 300,000
03 Al =2 THHI 6,120 2,300 3,820
OAld 20HYI 1,700,000,000& *0. 36% 6,120
SHEZZ20SH (B4 ARE) SEEIAL 151,080 800,000 A648,920
401 AIEHIZL 2 THYI 151,080 800,000 A648,920
01 AlZHI 150,000 794,960 A644,960
OsHEZZRSH (MY d7d) #2HZT
At 150,000,000 150,000
03 Al 20HHI 1,080 5,040 23,960
OAI4 20HbI 150,000,000& *0.72% 1,080
SEYT 2UAAFW(ZE1EH) S2HEFTA 50,000 100,000 /50,000
401 AlEHIZ 01| 50,000 100,000 /50,000
01 AlZHI 50,000 100,000 /50,000
OZENSH(EA~AF) 72t &#& e
o ZAEH 50,000,000 50,000
SAAHEEZONE 2el 19,087,476 17,660,710 1,426,766
= 8,028,000
Al 11,069,476
e HEE2 SELHEZA 3,137,676 4,210,000 A1,072,324
= 2,228,000
Al 909,676
401 Al HIZL 2018 3,137,676 4,210,000 1,072,324
= 2,228,000
Al 909,676
01 AlZHI 2,728,000 4,000,000 1,272,000
OBYE HSER & TN
2,728,000,000& 2,728,000
= 2,228,000
Al 500,000
02 Zeltl 400,000 200,000 200,000
Ozl 400,000,000 400,000
03 A2 THYI 9,676 10,000 N324




SN E23
B3 C2AL)
SRl TAIAEEZ2OHE 2l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| One=om) 3,583,500, 00081%0.27% 9,676
HIZ&E DT 2 JHEBANHIB A~ ) 6,005,000 4,000,000 2,005,000
2 5,600,000
Al 405,000
401 AIEHIL S CH] 6,005,000 4,000,000 2,005,000
2 5,600,000
Al 406,000
01 Al&H 5,995,000 3,969,200 2,005,800
ONBAE HYTE HEBAHMBSLE-Z
SE) 5.,995,000,0002 5,995,000
2 5,505,000
Al 400,000
03 Al = CHb| 10,000 10,800 800
OAlZ= b 10,000,000, 0002 0. 1% 10,000
2 5,000
Al 5,000
TAHEER (123656 (HMLNSI-Ha HLH=0) 500,000 1,002,700 502,700
HEBA
401 Al HI L2 HH) 500,000 1,002,700 A502,700
01 Al&H 500,000 1,000,000 A500,000
OEANSER H2365 6 (MLXSI-L2
SRE0) HEBA 500,000,002 500,000
CAHYER ER-1285M(ZUS SAZAHRIADI 5,005,000 4,010,000 995,000
£ ST T A
401 Al&HI L2 0H| 5,005,000 4,010,000 99,000
01 AlZH 5,000,000 4,000,000 1,000,000
OZANEER E2-1BSH(BYG AE
AARI-AIHEN SR B AL
5,000,000,0002 5,000,000
03 Al& = 0HH| 5,000 10,000 5,000
OAIE=0iH| 5,000,000, 0002 +0. 1% 5,000
SR ER6054 (LB DR2-Ta 4721 1,202,000 1,008,600 198,400
EEN
401 Al&HI 22 0H| 1,202,000 1,008,600 198,400
01 Al&H 1,200,000 1,000,000 200,000
OSAHEER S2-6058 (4B DIZ-H
& &R HEBA 1,200,000,0002 1,200,000
03 Al& = CHH| 2,000 3,600 A1,600
OAIE =8| 2,000,002 2,000
SAHEEE AR3375H(ZY SAWS)HESA 250,000 0 250,000
401 Al HI L2 OHH) 250,000 250,000
01 Al&H 248,200 248,200
OSANSEZ AR3H7SH(ZY L3
HEBA 248,200, 0002 248,200
03 Al 2 CHb| 1,800 0 1,800




2N SR
B3 C2AL)
SRl TAIAEEZ2OHE 2l EER=E)
SA - B BRA(SH) - HRA - of v G o HIDE2
| One=om) 250,000, 000&1%0.72% 1,800
Ny g =28 saza TLAY 200,500 0 200,500
2 200,000
Al 500
401 AIEHIL S CH] 200,500 0 200,500
2 200,000
Al 500
01 Al&H 200,000 0 200,000
OsZY dad =8y #228 THAY
200,000,0002! 200,000
2 200,000
03 Al&2CHH| 500 0 500
OAlEZ 20| 50,0002 500
SAEEE 216546 (S2-2TH)HEBA 500,000 0 500,000
401 AIEHI L2 ChH] 500,000 500,000
01 Al&H 500,000 500,000
OSAHNHER 21654 (S-S T) He
2N 500,000,002 500,000
SAHEER BR255H(U2ADI-EHI0)2EES 1,508,300 500,000 1,008,300
A
401 AIEHIL S CH] 1,506,300 500,000 1,006,300
01 Al&H 1,500,000 500,000 1,000,000
OSAHHEZ B2255 6 (HZAHR-EY
I0) BRI BA 1,500,000
03 Al 2CHb| 6.300 0 6.300
OAlE 20| 6,300
TAHEER 42260254 (SLHFBC-TESH) WL 60,000 0 60,000
A
401 AIEHIL = Ch] 60,000 60,000
01 Al&H 60,000 60,000
OZAHNEER L2605 H(SLFDC-0Y
SI) W ZA S| 60,000, 0002 60,000
SAHEEE AR07SH(ZYS OS0L2) HEE 501,000 100,000 401,000
At
401 AIEHIL 2 ChH] 501,000 100,000 401,000
01 Al&H 500,000 %, 100 400,900
OSAHSER L2675 4 (ZLS OIS0}
2) e A 500,000,002 500,000
03 Al& 2 CHb| 1,000 900 100
OAlE 20| 1,000,000 1,000
TAHEER AR2065M (LS QMOIE) HES 60,000 0 60,000
A
401 AIEHIL =] 60,000 60,000
01 Al&H 60,000 60,000




2A: S22
M CZAdate

SRl TAIAEEZ2OHE 2l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZAAHEEZ AZ2-6065H(HLS MOt
£) W& 3 AL &I 60,000,000& 60,000
g ot &~R)=E2sH 2t &2 HEEIA 100,000 100,000
401 AIEHIX R0 100,000 100,000
01 A28l 99,100 99,100
OtE SteMeld~7)=E2sd 2t &2 &
HEESA 99,100,000 99,100
03 AlE220HHI 900 0 900
OAIZ20HbI 100,000,000 0. %% 900
SANHEEZE 2226095 M (ZLLY) HESA 60,000 0 60,000
401 Al HIZ 2018 60,000 60,000
01 Al&HI 60,000 60,000
OZAHEEZ L2205 (22HE) He
SAH 2 60,000,000 60,000
A& Ol 8835 351,424 311,084 40,340
AEA 018 =4 361,424 311,084 40,340
A&EH EDI AR & &2F 49,624 49,924 A300
201 er23 | 4,104 4,404 A300
01 At2teltl 4,104 4,404 A300
ER=last sl 1,600
— A& 0l 243t 2= MA 1,600
S 60,0002 *10H 600
2 Mt 2002 *1,0000H*52] 1,000
OX&ENH et W= Wi K=
2,000& 100 200
OXMENOIE gdat =& SE|
8,000 38« 12& 2,304
202 04| 520 520
01 =LHOLI 520 520
OX&EA 018 gd3t =& 520,000 520
307 elztol & 45,000 45,000
6 2= 45,000 45,000
OAlgl TtEA 28 It
45,000,000 *14] 45,000
AEH SEXNZHE 2 6,800 6,800 0
201 er2 3| 1,800 1,800
01 AtR2t2|HI 1,800 1,800
Odgt==d| 1,800
—SEAZHE 28 =2 M
60,0003 *5I1+23] 600
—SEAEdH 28 225 7Y
100,000& * 12 1,200
206 MH=H| 5,000 5,000
01 M=4l 5,000 5,000




SA: C2D
g HEH 018 Z2dat
ghelr XEA 0l =& (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ORENL2 22 & B3 7Y
5,000,000 5,000
ANAEHEZ X2t 220,000 70,360 149,640
401 AIEHIX R0 220,000 70,360 149,640
01 A28l 220,000 70,000 150,000
OXNEHER RIES S
200,000,000 200,000
OMENE=Z 0= & &8 &Y
20,000,000 20,000
S HEHZ SEAUAE =29 5,000 5,000 0
201 Ler=23 | 5,000 5,000
2 s5=34l 5,000 5,000
O=k & &JIRks 2,500,000 *2H 5,000
AEA A 29 22,000 20,000 2,000
201 fer= 3| 7,000 2,000 5,000
01 At 2|l 2,000 2,000 0
Ootix 28 =5+ 2,000,000 2,000
2 35244l 5,000 0 5,000
OX&EH Z=cld 5,000,000& 5,000
206 M=l 5,000 5,000
01 MZH| 5,000 5,000
OXNEA & oHHE 2 5,000,000 5,000
401 AIEHIX 20HH 10,000 13,000 /3,000
01 AlZ2H| 10,000 13,000 23,000
OXEAN 22U E4 10,000,000 10,000
ANEN 22 WA 2 22H] XS 48,000 45,000 3,000
101 e124d| 48,000 45,000 3,000
M ORNZZ2NSE S 48,000 45,000 3,000
OXEN & UL 2 o12Ad|
48,000,000 48,000




